FCI ASSISTANT 2022-23 v

MEMORY BASED
PAPER SWutadra’s

(14 JAN 2023 <AL SHIFTS ) ‘@ ...%

(*) B | 11:30 AM Y BY SHUBHAM MAHENDRAS




=) UPCOMING ONLINE BATCHES

04 JAN 2023

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

04 JAN 2023

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

January 2023

11 JAN 2023 18 JAN 2023

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

18 JAN 2023

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI

25 JAN 2023

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e \ 7052477777/7052577777



Real Champs-

Tanu Jain 1 day a0 & Amanvi (Sadhvi)
JUAre + 1 Krra of 8x Dar cube «1

Homework Ans is opt d - 50
Thank you sir &
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« 1r1eply
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Nitu Maurya 1 day ag ANSWE
[f, ';,I' Reply

Thanku sir for amazing session

5 G Reply

« 1reply

'-tﬁ Reply

Tanisha p

] reply

Thank U sir s
HW 50
Surbhi Sinha

¥ [ﬁ; CJ] Reply "
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13 x 25% o1 200 - 12 X 66.66% of 50 = ?

(@)

A.200
B.250
C.230
D.290
E.260




[(130)* + 25 x 75] + 30 =? + 1500

A.180
B.190
C.220
D.150
E.NOT




427 -11°+ (32)*° + (9)*2—-35x4="2?

&
\._,\// S /,:A/
Laf MY,
'»/\ \@_ L_ |—| Ve

A.164
B.150
C.197
D.100
E.NOT




(3/5) x (18/15) =+ (9/5) + 60% of 20 = ?

( p \

A.58/5
B.41/3
C.62/5
D.55/7
E.NOT




24 X26+154 X 146 —384 ~12 =7?

A.22844
B.23484
C.23076
D.20376
E.NOT




Containers I and II have milk and water in the ratio of 4 : 5 and 8 : 3 respectively. In
what ratio Container I and Container II should be mixed to get a new mixture in which

milk and water are in the ratio of 16 : 13?

ehesTT 1 3T IT H &1 3R UTHT ShHTT: 4: 5 37 8: 3 o ATUTA | 2| Teh 4T {HAUT UTH i ok
o sHeR1 ﬁimllﬁﬁmmﬁﬁqﬂmmwﬁmﬁmﬁwaﬁwﬁwm
16: 1382

0 AE2: 35
842U \ B.23:11
Nl

224 ¥ C 28:13
D.18: 11
E. NOT




A and B together can complete 3/4th of total work in 9 days. In the same time, A can
complete the 3/5th of total work. Find out the time taken by B to complete the full work

if he works alone?

A 3R B foreTent et Tl T 3/4 9T 9 oA & U1 ST Eehdl §) SET OHT |, A el 1A ol 3/5

| O & Feha T gl AfS B 3Tehe! ShIH SHTdT 8 df O3 h1H O i | B ZRT o7 Tt aw
AT RITA?

/> A.60days
842U \\ B. 20 days

2% = (.45 days
D.50 days
E. NOT




Due to decrease of 25% in the price of orange, Ram able to buy 10 more orange for
200rs. Find initial number of oranges he bought and pay what amount for per piece of
orange after decrease price?

T shY SHTHT | 25% <hT HHT oF HRUT, TH 200 TID & 1T 10 3R TR T § g 2
Ik ERT TS T WX Shi THIeR HEAT FTA It 31X o HIHT o a18 Ha¥ o T ghs h
forg fera=t TSt ST JITaT We?

A. 35 pieces, 5 Rs./piece
B. 40 pieces, 5 Rs./piece
C. 30 pieces, 6.66 Rs./piece
D. 40 pieces, 6.66 Rs./piece
E. 30 pieces, 5 Rs./piece




6 years ago M was thrice the age of his brother R. In 10 years M will be twice the age of

His brother. Find the ratio of the ages of R and M 25 years from now ? .
6 Y TFeT M 37U HT3 R <Y 37T T el T[T 2T 10 T H M, Ik WIS hi 31T T ST

TN S | 25 W 918 R R M Rt 3T T AT 7T hiToTa?

170N A.45 : 67
=i} \ B.47 : 79

C.38:77
D.41:79
E.34 :67

/ I




The average of 4 numbers is 17. The first number is thrice the second number, second
number is 1/4 times of the third number and fourth number is 4. Find the second and

third number?

4 TEATSAT T AT 17 ) TEAT e T AT BT A AT 2, TE AT e a2 T 1/4 AT

2 ST <M s 4 ) ot 3R el H&a AT shiferd?

% N A8dnd32
=) \\ B.4 and 16

C.12 and 48
D.7 and 28
E.5 and 20

[
\




28, 284, 412, (?), 508, 524

~
¢ X
e
Py
/'/\:\

A.446
B.376
C.476
D.436
E.NOT




15,

15, 22, 48,

111,

2

(@)

A.235
B.232
C.228
D.238
E.240




()

°9

18, 27, 38

A.31
B.11
C.21
D.26
E.1




4,

9,

16,

35, 66,

137,

(?)

(@)

A.208
B.388
C.268
D.288
E.NOT




43,

49, 40, 56, 31,

7o

A.67
B.57
C.37
D.31
E.NOT




Direction: Read the following table carefully and answer the following questions:
Table shows the percentage of male and female employees in different education in a

company and total number of males and females:

facer: AFafaf@a arferar @ «araydes ufer 3R [Aeafaf@a udl & 3av JfS:
dTfoiehl Teh Ul H [affee R8T d gou 3R Afgell AT & gfard 3R geur 3R

ATATHT T Dol FEIAT I GATAT &

Education/ Category Male Female
Undergraduate 30% 35%
Graduate 55% 45%
Postgraduate 15% 20%
Total 16000 20000




The difference between Graduate female and male employees in the company ? @\
SHUAT H TTaeh AT HR 6T HUTTRAT o S T STa T 37

Education/ Category Male Female A. 150

B.100

Undergraduate 30% 35% C.200

Graduate 55% 45% D.250

Postgraduate 15% 20% E.180
Total 16000 20000




Find the number of Undergraduate male employees is approximately what percent less @\
than the number of undergraduate female employees?

TR JEY ShATTRAT hi TEAT TR HigeTl hA<ITRAT ohl HEAT & T fohd Tiasrd &1

. ( (20) \>

Education/ Category Male Female A.31%

B.21%

Undergraduate 30% 35% C.27%

Graduate 55% 45% D.24%

Postgraduate 15% 20% E.34%
Total 16000 20000




b

Find the ratio between the number of female and male employees of postgraduate ?

TATAeR T o HIZCTT TR U6W SHHATIEAT Sht AT o il ST SATUTd ATd Shi o1

Education/ Category \E[ Female Al:1l

B.2:3

Undergraduate 30% 35% C3:2

Graduate 55% 45% D.5:3

Postgraduate 15% 20% F4:3
Total 16000 20000




Find the postgraduate employees of a company are approximately what percent of total

employees of a company?

AT T Tk Tk SHUHT o FATAeh I AR Ueh ShU-T o Shel ShHATIRET o oT T feha

TToTe 82
(@]
0

Education/ Category Male Female A.12%
B.22%

Undergraduate 30% 35%
5 ; ° C.15%

o) 0)
Graduate 55% 45% D26%
Postgraduate 15% 20% F. 18%

Total 16000 20000




Find the average number of Undergraduate employees in a company?

Teh ThUT W TATAh hHATIAT ohl STTHA HEAT AT hiTTA?

{20
s
Education/ Category Male Female A. 6300
B.6100
Undergraduate 30% 35% C.5400
Graduate 55% 45% D.5900
Postgraduate 15% 20% E.6700
Total 16000 20000




The bar graph shows the number of paper printed by different machines on Monday and E\

Tuesday.
IR I HHAIR 3R ATAIR Dl fAfFe AT gR1 HAlgd ot Hr dean e@ran g

Paper Printed
7000
6000 5800

5000

4000

3000

2000

1000

A B C D
® MONDAY E TUESDAY




Find the total numbers of papers printed on Monday ?

AR T Hisd U= hl et TEAT 7T hITT0?

7000
6000
5000
4000
3000
2000

1000

Paper Printed

5800

B C
B MONDAY m TUESDAY

A.18,000
B. 20,000
C. 21,000
D.19,000
E. 22,000



Find the ratio between the total number of papers printed by machine A and machine

R
on given days ? ’

faw mru fot % wofiT A SR w9fia D SR qfa Tt Y shet HEHAT % S T ST 7
hfor?

Paper Printed

7000
6000 5800
5000
4000 A.23:25
3000 B.25:23
2000 C.55:48
1090 D.48 : 55

g E.24:23

A B C D
B MONDAY m TUESDAY




Find the difference between the total number of papers printed by machine B and
machine C on given days ?

faw Ty 2=t § wyfiw B SR welt C 3R qia it <t shet TEaT o Sfier ot 3iar [Td shiferar?

Paper Printed

7000
6000 5800
5000
4000 A.500
3000 B. 700
2000 C. 800
1000 D.600

: = i ; 3 =100

B MONDAY m TUESDAY




Number of papers printed by D on Tuesday is what percent less than number of papers

printed by A on Monday?
TR ST D ZRT TiSd Ut hl ST, HHaR st A 5 qisa ust st &ear @ fraw wfaera

U B2

Paper Printed

7000
6000 5800
5000
4000 A.12.5%
3000 B.16.66%
2000 C.8.33%
1000 D.8.25%

g WY

A B C D
B MONDAY m TUESDAY




Find the average of the total number of papers printed on Tuesday?

HITASAR T Hisd TAT hl THet HEAT BT AT [T hITo1a?

7000
6000
5000
4000
3000
2000

1000

Paper Printed

5800

B C
B MONDAY m TUESDAY

A.4425
B.4375
C. 4450
D.4280
E. 4190



The number of papers printed by machine B on Monday is what percent less than that

of machine D on Monday?
AR hl T B ST Hisd U1 Shi EEAT, THAR St A0 D R g1 § fehe Tfaera
& ?

Paper Printed

7000
6000 5800
5000
4000 A. 14%
3000 B.15%
2000 C.12%
1000 D.18%

g E. 10%

A B C D
B MONDAY m TUESDAY






















